FILL IN THE BLANKS using “a scalar”, “a vector”, or “undefined”. SCORE: /3 PTS
NOTE: You must get at least 2 out of 3 answers correct to earn any points.

If 1,V and W are vectors in three dimensions, then (¢ — V) X (i - W) is UNDEEWED ,
CRACED @Y ME @G - V)i - W) is A SCALATL and
(i % ¥) (i % W) is_ UDEEIVED
In the diagram on the right, £ is the midpoint of AC , and D is the midpoint of BE. 'SCORE: /SPTS
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[a] Find an expressmn for vector AC in terms of # and V.
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[b] Fmd an expressmn for vector BE in terms of 1 “ and V.
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[c] Find an expressmn for vector AD in terms of #and V.
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Let P be the point (=3, 2, —1), and Q be the point (I, —2,-7). SCORE: /5 PTS

[a] Find the symmetric equation of the line through P and Q.
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[b] Find the parametric equation of the line through Q) and parallel to the line
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Use the properties of the cross product to simplify the expression (5 + 1) x (5 —2n). A SCORE: /4 PTS
Write your final answer without Legatlves
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Let i =<2,—-1,-3>and g =<-1,4,5>. SCORE: /13 PTS
[a] Find the (vector) projection of q onto % .
Q-0 = 2415
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[b] Find the aréa of the triangle with vectors # and ¢ as 2 of its sides.
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[c] Find the angle between the vectors & and § .
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[d] Find a unit vector perpendicular to both % and g .
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